B N ERE

1. LEA4
T4 WA RE KB R EE O 1 TF
TEH 4 By IR T il v KT v
2. TENE
1)  FHEIT4 T I FHBT T % i
2) X LM W T
3) T i 338 H M H S 7THE 3H27TH
ES S0 84 2H27H
4) T EgE

i@ Aokt 5w m



B N ERE

T4 | EAGKHERIE#ER O 1 TH

THXSy « TfE - FER A B & & B # a1l ) 7
LiE - =X 1 266, 201, 741
LT = 1 99, 775, 245
FEHI T (ICT) = 1 1,486, 110 |#@EHI (ICT) 1, 800 m3
+wb A7 Uhyb
b 1 =
+rb CEl - ERREY L&) ;
AT Y 1 420,829 | IR (FLR) K+ 10 m3
2. SmA ;
PR (ZL) ik - 150 m3
2. 5mPL F4. OmART ;
PR (ZL) ik - 110 m3
4. 0mPA F
b 1 =
+rb CE - ERREY L&) ;
FEIA Ov=27) 1 =K
L4
AT Y 1 266, 160 | B&IR (FLi8) K 1 40 m3
2. 5mA 5
4T (ICT) = 1 48, 229, 254 | BEAK (FE42) B% 1 (TICT) 19, 900 m3
4. 0mPA F
b 1 =
+rb CEl - ERREY L&) ;
TE%ER 1 K
EEEETE T (ICT) = 1 48, 460, 332 | JEMEETE (8] 1:36) (ICT) 560 m2
VA + W R O + RsrE L
EEEETE (B 5R) (ICT) 120 m2
REAFE DL ;
EEEETE (B 5R) (ICT) 5, 980 m2
(7 18]
EHERHEDAE D
AT = 1 912, 560 | & 1 =Y
7% L% AN T O

-1 - ESR o3 E < o] 3 ok S




PR NERE

T4 | EAGKHERIE#ER O 1 TH

THRX4y « THE - i A B & & B A a1l ] 7
LT 2V 1 12,931, 020
T = 1 12,931, 020 |7° VEyAME#ET 0y 722 m
H300 L2000 ;
R L 2V 1 125, 286, 082
LT 2V 1 25,823, 710 |IR#E D 1 =K
L4
HWREL 1 =
L4
HWREL 1 =
L4
HWREL 1 =
L4
A (b=27) 1 =K
L4
A 1 =
+rb CE - ERREY L&) ;
HE A 1 =K
L -20)
LT 2V 1 731,744 |HEL 1 =
L4
A (b=27) 1 =K
L4
A 1 =
+rb CEl- AR L&) ;
/) =477 wy ) T (av) ) =47 ny ) k) = 1 58,974,518 |av7) - ([E1%0) 7" ny )Rk 1,902 m2
Bl AE 8% 35cm ;
JIA - BEARY (FeF) 929 m3
AR RC-40 ;
B AR e 89 m2
VB RHE T B MU t=10 ;
HEEAEY L 2V 1 6,034, 070 | BLIGHT Rimar) -} 53 m3
18-8-40BB W/C=<60% ;

-2 - ESR o3 E < o] 3 ok S




PR NERE

T4 | HEAERKHERR#ERE D 1 TH
THRXSy - LA - fERl A ¥ = & B A il ] 7
b 36 (50
21-8-40BB W/C=<60% ;
/NAE 4 AT
21-8-40BB W/C=60Y% ;
ZBEREFL 2V 21,808, 880 |7>Zvy | (L BefK) 722 m2
MEAESRL B1000 X H500 ;
Wt UBGIE#F (42imm) g% (& 1, 440 m2
Ak AHEAE 10mm ;
R T 2V 11,913,160 |iEZ 6, 280 m2
IEZ T 500m2LL F
418 1 T Y 1 1, 625, 108
TAT7 VR T =X 1 943,459 | )@ KE (FEE - BT 984 m2
RC-40 t=150mm ;
B T 2V 1 681,649 | TJE s (il - BIEH) 404 m2
RC-40 t=150mm ;
Wt e 660 m2
£=100mm ;
KT = 1 6, 708, 823
LT 7 1 1,126,083 |K#E Y 1 =K
L4
HWREL 1 =
L4
HWREL 1 =
L4
A (b=27) 1 =K
L4
A 1 =
W CaBE- EARY &)
T = 1 4,111,430 | F AR 53 n
600X 900 #trH Hqka,18-8-40BB W/C=65%
JEE31/18-8-25BB W/C=<65% ;
EL 1 2 Fc A 12 m
-3 - Ermy bR = R




PR NERE

T4 | EAGKHERIE#ER O 1 TH

il il 2! R

e
&
‘\?é].[

T4y - T - flR] HOAL #

600X 900 HEWTFH JEA%a2/18-8-40BB W/C=65%
JEE#Ra/18-8-25BB W/C=65% ;
(SRR iR 76 m
600X 1000 #EWTH Hiffka,18-8-40BB W/C=65%
JEE#Ra/18-8-25BB W/C=65% ;

VI AN =X 1 375,150 | BT H KM 1 (50
£E/Kk#E B800 X L800 X H1100 2v/)—} £FE 18-8-
40BB W/C=60% ;

BUGFT B Kt 1 (50
AR HE (R 3REE) B1000 X L1000 X H1750 27—}
&-FH 18-8-40BB W/C=60% ;

B 5 &l
B300 ;

801,460 |7° VAyAhK v/ 11 m
B800 X' H800 ;

o5
vl
H
2

294,700 |11 T 1 fi 7T
21-8-40BB W/C=60% ;

o T 1 &P
(i)
21-8-40BB W/C=60% ;

=z
u|
H
B

5

(A1 403 T 188, 280

5

188,280 | Wy H LB IE#F (2m) 7% 180 m2
Ak AREAT 10mm ;

W HH B 1k T

5

HiEYME T 8,475, 510

5

5,894, 505 |20/ - MEE S EREE L 705 m3
A EY |

HEIE Y I L T

5

R T 2,581,005 | LT 705 m3
377 - bk (BERR) 5
ALy 705 m3

a9 -hik ()

5

FGan 11,211,673

-4 - ESR o3 E < o] 3 ok S




T4 | EAGKHERIE#ER O 1 TH

THRX Sy « Lff - fi5 Bz ¥ = & Hm a1l N 7
THHEKT Y 6,843,973 | THEHE KK+ 1 =
Ao il 1 2V
£=100mm ;
HERIR 1 2V
22X 1,524 X6,096 (mm) & - ;
A - ARG Y 1,183,100 |{Ki5 1 =
KRBT Y 1,707,600 |& 7" HEzk 1 =
45024 1300 (m3/h) A & HEHEK ;
AREET = 1,477,000 |Z2iEFEEESHE 1 2V
RS Y 266, 201, 741
Il R = 24, 364, 700
Il R = 7,594, 700
TR Y 4,142,616 | M%) IERRE 1 =
IRER B S 1 2V
it Y 1,310, 084 | Afli/nhiz a5 1 =
BRBET R 46 SR HEER
PRAFA B (ICT) 1 =Y
YATARI R (ICT) 1 2V
Bl RIEWER (FE L) Y 2,142, 000
Il (it L) Y 16, 770, 000
il T = 290, 566, 441
Bl H e Y 63, 603, 000
T =5 = 354, 169, 441
-5- B P K N o3 L i3 D




RN E
T4 | HEAGKHEEREE RO 1 TE
THXSy - TH - fly HOfr ¥ & & fH # bl N i
—fRE R % X 1 50, 990, 559
T fifik& v 1 405, 160, 000
6 -

i@ Aokt 5w m




